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CBA Practice paper model answers 

Credit Management and Debt Control – Part 1 (CRMC) 

Task 1.1
[image: image2.png](a) An offer is:

An invitation to treat

An expression of willingness to be legally bound.

Astatement of price.

Arequest for information

(b) Which one of the following is not a term implied by the Sale of Goods Act 19797

The seller has the rightto sellthe goods

“The goods supplied will match the sales description.

Arefund will be issued ifthe same goods can be purchased cheaper somewhere else.

Goods s0ld in the course of business are fitfor the buyers purpose.





Task 1.1 continued

[image: image3.png](c) Misrepresentation is:

Afalse statement offact made by the seller to make 3 sale

Where both parties intend the agreementto have a legal effect

Astatement notincluded in a wiitien contract.

Afalse statement offact made by the purchaserto obtain a lower price.





Task 1.2

[image: image4.png]() Which of the following statements is correct? (Select one only)

“This is an offer to anyone who walks past the shop window.

Acustomer who offers £70 is making a counter offer

‘Susan must sellthe golf clubs to any person who can pay the price

The noice represents an invitation to reat.

Jamie goes to 3 large stationery store to purchase some office stationery

(b) Atwhat point is a contract formed between Jamie and the store?

When Jamie removes items from the shelves.

When Jamie puts the items into his trolley.

When the checkout assistant takes the items from Jamie.

When Jamie pays forthe items.





Task 1.2 continued

[image: image5.png](c) Which of the following is correct?

Horace may refuse to pay the building company uniil substantial completion has taken place.

Horace is required to pay the amount due, taking into accountthe degree of incompletion, and deducting an
amount accordingly.

Horace must pay 50% of the contractual fee, and nothing more, regardless of the amount of work compsted.

Horace must pay the full coniractual amount.

Sally has an allergy to nuts. She orders some chocolate from an on-line health food store that states: All our
products are quaranteed notto contain nuts” on its product description. When Sally receives the chocolate.

‘and reads the label on the packaging, it states: ‘This product may contain nuts'.

(d) Whataction can Sally take?

Sally can take no action because the product received is chocolate.

Sally can keep the chocolate but does not have to pay for it

Sally can sue for breach of coniract because the chocolate received is not as described in the advert.

Sally cannot claim damages because the description on the website does notform part of the contract.





Task 1.2 continued

[image: image6.png]Company A send a purchase order to Company B for 2,000 metres of silk. On the back of the purchase order
s a paragraph stating that Company A has the rightto keep the goods without paying for them ift considers
thatthe goods do not meet their quality standard. The sales department for Company B failed o spot the
‘clause and duly despatched the goods which arrived at Company A3 days later. Company A s now refusing
to payforthe silk, caiming thattis poor quality and does not meet their required quality standard.

(e) Whataction can Company B take?

Company B accepted the purchase order and despatched the goods, therefore they cannot sue for
the price ofthe goods.

‘Company B did not accept the purchase order in wiiting and therefore they can sue Company A for
the price ofthe goods.

‘The purchase order sent by Company A is merely an invitation to reat and therefore no contract
was formed. Company B cannottake any further action against Company A

‘Company A accepted the goods as suitable quality when they signed the delivery note and
thersfore Company B can sue forthe price of the goods.





Task 1.3

[image: image7.png](a) The purpose of an award of damages for a breach of contract is:

To punish one pary for the non-performance of the conractual terms.

To award a sum of money to the injured party.

To ensure the coniract s performed correctly

To putthe injured party in the position they would have beenin, as far as possible, had the contract
been properly performed.

‘Small companies are eligible to charge interestto customers who setle their debs late. The interestrate is
calculated as 8% above base rate and is charged on the gross amount of the debt due (VAT inclusive at 20%).

(b) Whatis the interest chargeable on a net debt of £3,000 which is 60 days late when the base rate is 1%?

24438





Task 1.4

[image: image8.png]() Which of the following does the Data Protection Act apply to?

Any organisation that holds sensitive data on businesses and individuals.

Any organisation that processes personal data.

Any organisation that holds sensitive data on businesses.

Anytrading organisation





Task 1.4 continued

[image: image9.png]‘The Data Protection Act contains eight data protection principles.

(b) Which of the following are principles included in the Data Protection Act?

() Adequate, relevant and not excessive
(i) Notkeptfor longer than 2 years

(i) Accurate and up to date

®and (i)

) and (i)

@ and (i)

(), i) and i)

None of them





Task 1.5

[image: image10.png](a) Which two of the following are required for a retention of title clause to be valid?

The contract must include a resenvation of ile clause,

The goods must have been paid forin full

The purchaser must be in liquidation.

The goods must be clearly identifiable.

(b) Which one of the following statements is true?

Awinding up petition can be made when a creditor is owed more than £500 and the debtis unsecured.

Awinding up petition can be made when a creditoris owed more than £750 and the debt s secured.

Awinding up petition can be made when a creditor is owed more than £500 and the debtis secured.





Task 1.5 continued

[image: image11.png](c) Whatis insolvency?

When a company pays its debts late.

Being unable to pay debs 3 they fal due.

When a company is only able to pay some of its debs as they fall due.

When a credit controller needs to be appointed.

There are three routes available for pursuing a commercial debt in the County Court

(d) Which of the following is not one of the three routes?

Fasttrack

‘Small claims track

Large claims track

Multrack





Task 1.5 continued

[image: image12.png](€) This is known as:

‘An acion for price

An acion for remedy

An action for the goods

An action for specific performance





Task 1.6
[image: image13.png](a) The primary function of liquidity management is:

To ensure that an organisation always uses its bank overdraft

To ensure that an organisation does not make 3 loss.

To ensure that an organisation has access to sufficient cash to mest all its payment obligations.

To ensure thatthere is suficient cash to pay the owners of the organisation

JLtdhas 3 customer thatis refusing to seftl its invoice, claiming that the wrong goods were delivered.

{b) Which two documents would be used by the credit control department when collecting the debt?

Bank statement

Invoice

o





Task 1.6 continued

[image: image14.png]Anew customer has contacted X Ltd requesting credit faciliies.
(€) Which of the following could be used to assess the credit-worthiness of the new customer?
Trade references

Price list

Personal quarantee of the owner

Financial accounts.

() Reportfrom a credit reference agency

@, (i) and ()

@, andv)

() and )

() Which of the following methods could be used for analysing credit control information?

Calculation of ratios based on the customer's financial statements

Reconciliation of suppler statements

‘Aged creditor reports

Rule of 21





Task 1.6 continued
[image: image15.png](€) The 80120 rule can be used to analyse information on debtors. This is:

Arule that requires the credit controller of arge companies looks atthe 80th invoice sentto the
20th customer on the list

‘Arule that approximately 80% of the value of accounts owed will be represented by approximately
20% of the customer accounts

Arule that a quarter of debtors will always pay their invoices late

‘Arule that approximately 20% of the value of accounts owed will be represented by approximately
80% of the customer accounts





Task 1.7
[image: image16.png](a) Identify two costs that the company must consider before offering a discount.

Reduction in bad debts.

Addiional administrative costs.

Reduction in amount of revenue received.

[P

Reduction in finance costs.

(b) Identify the correct method for calculating the simple annual interest rate of a discount for prompt

payment.

Discount rate + (100 - discount rate) x 365 days + (diflerence in days between normal settiement and
setilementfor prompt payment) x 100

Discount rate + (100 - discount rate) x (difierence in days between normal setflement and setiement
for prompt payment) + 365 x 100

Discount rate + 100 x 365 days = (diference in days between normal setiement and settlement
for prompt payment) x 100

Discount rate + 100 x (difierence in days between normal settisment and setiement for prompt
payment) + 365 x 100





Task 1.8
[image: image17.png](a) This type of agreement is known as:

Invoice discounting

Non-recourse factoring

Factoring

Creditinsurance

(b) A credit insurance will provide cover for:

Alltrade debts unpaid after 30 days

Alltrade debs from customers who become insolvent.

Alltrade debts unpaid due to the supply of faulty goods





Task 1.8 continued
[image: image18.png](c) Which of the following are suitable methods for collecting money from debtors who have defaulted on
the credit terms agreed?

() Solicitors'etter
(@) Debt collection agency

(i) Invoice discounting

®and (i)

) and (i)

@ and (i)

(), i) and i)
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